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induced emf at ¢ = 3si P En
(A) -10 (B) 10v
(C) 190v D ~190y
4. Vision ‘SAGAR’ (Security ang

in the Region) is related to
(A) Indo-Pacific (B) Indo-China
(C) lndia-Caribbean (D) Indo-Bangla

5. The leaders who were behind the i

establishment of UNQ are [OPT)

(A) Franklin D. Roosevelt, Joseph Stalin,
Winston Churchil

(B) Franklin D, Roosevelt, Lenin,

Winston Churchil|
C) Franklin D, Roosevelt, Winston

“ ... Churchill, Nehry
(D) wudro Wilson, Winston Churchill,
& Joseph Stalin
6. Which numberwalloomemtheplaceofqueshon
mark ?
216 343 ?
2 6 2
4 o 3
(A) 125 (B) 228
(C) 112 (D) 218

). P Inishment for violation of Privacy
mming

alis :
an “1\“[““”” W'”[h

CMMs — 51

1w gertoraer vk ween & )

qgran a6 2

(/:) it & mferr 'H'f&(,p_“

(8) qft gf o AT |

(C) wmrst o 37T feere, erzar 3
~(D) 1@ gfm 5 anifer 81 sz 2 3
/wz, Fﬁﬁ%@mmﬁif—:ﬁ x:frf_'m Horf 7
(‘“, 5,6, 15, 50, 207, ?

(A) To0t’ (B) 1044
(C) 1050 (D) 1544

3. fomeft oo twvaﬁg?g?ﬁ‘ﬁmﬂﬂmam
(¢ = 10t* — 50t + 250 2, 1 ¥fra Joguy

F

t=3sW & O]
—10V (B) 10V Yo
Wby oy 5
) ‘SAGAR'’ (%aﬁwaa%qgtme#{q%)
¢ IR e N
A) ¥RA-¥eTra (B) e
:C) T - HitfargT (D) WRa-=men
S HI U W WU F D Bt st oy
g ar?
(A) S &, Tz, S TIfer, i wRe

(B) FIHfer &, Tordee, af, R afdg e
(C) BiwfaT 2. m&a,ﬁm?ﬁa,%a@-?a

(D) g@.ﬁﬁm,ﬁfmaﬁa,mmﬁﬂ
6. mﬁa%mmﬁq-ﬁﬁwaﬁrﬁ?
3 ?
TR 9
4 1 3 Z/-'
(A) 125 (B) 228
(C) 112 (D) 218
7. Nré.é}.a?ﬁ:ﬁqqﬁumss(é)ﬁmﬁédfﬁa%?
i i
‘L.
wrfeh p
(D) f%fim
8. ﬁwﬁﬂwﬂw-mﬁﬁm(%ﬁimﬁaam)m
JAE R 7
(A) @ (B) smg.
(C) T

(D) Jwifer

% 5




55

Amnesty Internation
& promotes

(A) Fundamental [{jfgl]ts

: Of t}
(B) Human Rights 3

A& (‘_i[i,m !
Over 'S

: rectd € worlg
(C) Fights against Nequa)jy in the
(D) It promotes Peace jp the Worlg SOciety
2. Which number wijj co ;
question mark ? Mein the Place of
3, 6,15, 50, 207, ?
(A) 1000 (B) 104
4
(C) 1050 (D) 1544
3. The flux linked With a coil at -
£ an
'S given by ¢ = 1042 - VS'SS?:?ét
induced emf at ¢ = 3si P En
(A) -10 (B) 10v
(C) 190v D ~190y
4. Vision ‘SAGAR’ (Security ang

in the Region) is related to
(A) Indo-Pacific (B) Indo-China
(C) lndia-Caribbean (D) Indo-Bangla

5. The leaders who were behind the i

establishment of UNQ are [OPT)

(A) Franklin D. Roosevelt, Joseph Stalin,
Winston Churchil

(B) Franklin D, Roosevelt, Lenin,

Winston Churchil|
C) Franklin D, Roosevelt, Winston

“ ... Churchill, Nehry
(D) wudro Wilson, Winston Churchill,
& Joseph Stalin
6. Which numberwalloomemtheplaceofqueshon
mark ?
216 343 ?
2 6 2
4 o 3
(A) 125 (B) 228
(C) 112 (D) 218

). P Inishment for violation of Privacy
mming

alis :
an “1\“[““”” W'”[h

CMMs — 51

1w gertoraer vk ween & )

qgran a6 2

(/:) it & mferr 'H'f&(,p_“

(8) qft gf o AT |

(C) wmrst o 37T feere, erzar 3
~(D) 1@ gfm 5 anifer 81 sz 2 3
/wz, Fﬁﬁ%@mmﬁif—:ﬁ x:frf_'m Horf 7
(‘“, 5,6, 15, 50, 207, ?

(A) To0t’ (B) 1044
(C) 1050 (D) 1544

3. fomeft oo twvaﬁg?g?ﬁ‘ﬁmﬂﬂmam
(¢ = 10t* — 50t + 250 2, 1 ¥fra Joguy

F

t=3sW & O]
—10V (B) 10V Yo
Wby oy 5
) ‘SAGAR'’ (%aﬁwaa%qgtme#{q%)
¢ IR e N
A) ¥RA-¥eTra (B) e
:C) T - HitfargT (D) WRa-=men
S HI U W WU F D Bt st oy
g ar?
(A) S &, Tz, S TIfer, i wRe

(B) FIHfer &, Tordee, af, R afdg e
(C) BiwfaT 2. m&a,ﬁm?ﬁa,%a@-?a

(D) g@.ﬁﬁm,ﬁfmaﬁa,mmﬁﬂ
6. mﬁa%mmﬁq-ﬁﬁwaﬁrﬁ?
3 ?
TR 9
4 1 3 Z/-'
(A) 125 (B) 228
(C) 112 (D) 218
7. Nré.é}.a?ﬁ:ﬁqqﬁumss(é)ﬁmﬁédfﬁa%?
i i
‘L.
wrfeh p
(D) f%fim
8. ﬁwﬁﬂwﬂw-mﬁﬁm(%ﬁimﬁaam)m
JAE R 7
(A) @ (B) smg.
(C) T

(D) Jwifer

% 5




|§§. rdder
X L X ,_qf"‘ oren
! L the 0 ;‘ GIkworm (3) Sa

noose | !

18 \ “\1 . " L‘I\“h

i ‘

\

t

! i s that strive
seful, orgam,;eodngsrgcuig | goal are

a8

5. The purP™ ' 43 com

16. 1 3

W
1o work to

ents .
A) Flash move™ ExE
(B) social svements i NS
‘ jitical M
(C) Po

nts
) Conventionai moveme
(0

nswer figures, select the one in
na

17. From thhe g:: oction figure is hidden/embedded.
which the

M

—

" E (8)

() m (D)

| 18.  Aregionwith a large number of deep gullies
or ravinesis called a
\ (A) Valley topography
(B) Coastal topography
(C) Bordaned topography
(D) Badland topography
19.
and modem,
(A) Serial ports
(B) Parallel ports
Universa| Serj
D) Integrateqd pi

Bl
5

are used for connecting
evices like mouse

al Bus (USB) ports
8l Electronics (IDE) ports
20. The value of

(0.0347) 4 (0.9653)2
(0.0347)2

is
~0.0347x0.9553+(o.9553)’
(A) 0

G

RERER R B

20.

C

MMS\&

wridt A | % |
P ;o @y,

(4) twm (7, (5) = (3 g
(A) (3), (4), (1), (2), (5 ;
(B) (2), (4), (1), (5), (3~ \
(C) (2), (4), (3), (5), (1)¢ JE:-"

iaa
(B) EHTRNF atieiey _
(C) Tﬁ:ﬁﬁ%:ﬂ@m
(D) TRaRe atidrer
17. @ Iw 'ﬁﬁ,ag
T 3'[5“'@%/%% me\

=
SR B
T - ST R 7
(A) =1 TUATEHRY
(B) o9z ad TTATHR
(C) Iz TRy
(D) S=d= TIATHR
RIELSTES) P
(A) =it %
(B) TR W
ég)} I whfraet =@ (Ush) ot

3
(0.0347)} +((J_@%{_-
(0.0347)* —0.0347x0.9653*
FAF B

i
(A) 0 g

(C) 10

21.

22.

23,

24,

26.

Find !

(A) -
(C) .

It re
SOCic
and
disciy
(A) |
(C)

Selef

(€)

In H;
was |
(A) 1
() -

Secyj
that
a chj
(A) -

Ifthe

(A)




es iN NS NRUTE

h‘ Iln

L
. cant ‘10 conduct
o) | QU g of principles

*7 e " 'f“‘ ."dr‘

n “\mm‘; . 9 _ |
e E.Mt code of conduct
G:m: it pthicd 0 code of ethics

v Palh 1
(A - pehavi e of the given
g yror M2 line AB
I ‘o"t"f" e Iaced atll :
calect the ¢ : isP

'.5 ‘\F ) af :h‘ v

’ NG “"‘a' )

e

AK LS E

h"-.: f.\';"

< V|
> A
\»3-3 A oM
XM (8) O T

:’Sgi&' O T
< o T
}::{ oM
la Oa M o) )
b =

26 In Haryana the First Krishi Vigyan Kendra
was established in
(c) 1980 (D) 1983

25. Apogamy is common in
(A) Cycas  (B) Gnetum
(C) Ferns (D) Tomato
2. Section 82 of Indian Penal Code provides
that_nothing is an offence which is done by
a child under years of age.
01 ok
(0) 7
21 ffthe word PATCH is wri
BATCH Is written as mnasQBUDI whereas
(A) cBUDI (
B) CEGIK
() BC H
| Bzl (0) AcoFH
e O 3ug

R |

L1,

22.

23,

24,

25.

26.

27.

®

@6
.5-

8 oy
REIONT trpraat ) T A i

AC) 13 (‘i”) 12 L
)) 15

ALRILIE

s A i T 3 fer

faun REITIEN SRR T e

T'i"ir! ERLGI ?*., fﬂ‘“i "“T'IF"THQ'

u:‘lrl ;:. , = ag o
k._ll f.}] “.‘ ‘”.g:[r” 5{'“ -“f"[’h ”"{'_f-;i “.i

Rl
(A) ufdamf erpa

i . (“ H r. .I 2
(C) =1awEm ¥ b AT wean

(D) A afzm

a"ﬁ%ﬁl?‘ﬁlﬂ?‘] for fafs

U e s1fim <

H%%@Aamvmnarh T
A

A K

MGECI

T

A

A
(A) M
- (B) OE) M
7
T A TA
(C) ga M (D) ga M
A A
e # geen Y e = e g ?
(A) 1970 (B) 1976
(C) 1980 (D) 1983
i feped w7
(A) Tz (B) e
(C) wd (D) Tt
g 2ue afgdr it 4T 82 & ITFEN

?vﬁ
SCECESE S R LR R
FRRERIEIE

(A) 15 (8) 9

(C) 12 (D) 7

af% PATCH ¥7&& 1 QBUDI feran st ,
= =1 foran smem ?

?:;%%um (B) CEGIKH

(C) BCEGH (D) ACDFH

G

cJUD



p"”llt' 1L
R ' Modery,

Sip
WOou hao Ntisty

I“\I'Il\hn

n\“.‘ l‘ ‘,h“\‘f\

r K
v Pt ase OF sl

i y 3 S
O ¢
1“:‘\' . k "

IS
i En
A) ¢

a) \.?‘ _“”f'ld ‘ “‘“l‘
L 1 P
4 jean Paget X
(L
11 Robert N. Nh«“t\\“
(

what is the number qof

28. a cube can be cut b K‘T):reecemc:ﬂm,which
direction, SIX cuts in th econd ':j )
and seven cuts in the thjrgy directj ection
(A) 126 (B) 224 Mg
(C) 312 (D) 278

30. Inflationin an economy m Y arise frg
overallincrease in the coq o the
is called - Production. i
(A) Cost-push inflation
(B) Noinflation
(C) Demand-pull inflation
(D) Deficit-induced inflation

31. If(x=1)isthe H.C.F. of X2 =
px’—q (x + 1), then W=thand
(A) p=2q (B) q=2p
(C) 3p=2q (D) 2p=3q

x 2@ AGP Stands for
%‘; (A) Accelerated Graphic Pen
T*&E (8) Advanced Graphics Port

(C) Accelerated Graphic Port
(D) Advanced Graphics Pen

33. Most of the economies are
(A) Mixed economies
(B) Socialist economies
(C) Capitalist economies
(D) Communist economies

34. Teacher: Education : : Mason : ?
(A) Shoes (B) wall
(C) Book (D) Film

35. Carbohydrate, protein and fat metabolism

in the body is regulated by the hormone
(A) Adrenaline (B) Oxytocin

(C) Thyroxin (D) FSH
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established in 1853 by the Government of
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74. Homo sapiens belongs o fami
(A) Hominidae (B) Holinidan
(C) Hissidae (D) None of th, :
1} a ) ,
75. A man rides at the rate 18 1 O\
stops for 6 mins to chanpe horses f“/hr ut
of every 7" km. The time th, hel A the opgy
cover a distance of 90 ki jg Will take g
(A) 6 hrs 18 min, (B) 6 Frei o
(C) 6 hrs Min,

(D) 6 hrs 1, min
76. UNEP announced the eradic |
pollutant from the world a5 Alge
country to use exhausted its sup
(A) Un-leaded petrol

tion of ,
fa ch@ 'i}St
plies, it s
(B) Leaded petrol

(C) Coal (D) Coal tar

77. Who was called as the Father of Anatomy ?
(A) Aristotle (B) Hippocrates "
(C) Herophilus (D) Ptolemy

78. There are two numbers such t
of twice the first and thrice the :Z::!ctotr:..deis5 Lljr;
while the sum of thrice the first and twicé
the second is 17. The larger of the two is
(A) 12 (B) 8

(C) 6 (D) 4 g‘%
79. , popularly known as B

all-in-one printer, is a device that
consolidates the capabilities of multiple
devices in one machine.

(A) Laser printer (B) Drum printer
(C) Hydra printer (D) Inkjet printer

80. India’s first Pan-India helpline for
senior citizens is
(A) Elder line, 14567 (B) Elder line, 14765
(C) Elder line, 14647 (D) None of the above

81. Chronic liver damage is called .
(A) Cirrhosis (B) Lardmswis
(C) Poikalosis (D) Lambos. .
82. _ is a World wide we?tén;?mails
' that allows users to read and Wr
using a web browser. ” -

(A) E-mail (D) None of these

(C) Outlook express Sias

74,

75.

76.

77.

78.

79.

80.

81.

82.

CMMS"SI
Ay g 70t da foRE TREm A g
(A) wifiufr2 (B) IS
(c) fefid (D) 39U & & s 7%

ua el 18 f’?'“n/qj ﬁarf«' RRAURS
k. Mgl 7%:};3:{?{15‘11373%3@%%!1
6 firz % fore %9 a1 & 1 90 Pt iy 76t oy

e i T TN AR
(A) 672 18 firTe (8) 6772 24 firge

(C) 62 (D}G‘j’% 12

UNEP 3 fava & U N9 % 35 1 o )
3 i STesAf - S WA FE A sifg
3o s syl B E w o R
(A) dem A 93 (B) HIETEH ¥
(C) e (D) 2R

it T e & o R e A R 7
(A) Hfeied (8) féurheg

(C) Bftrera (D) elerdt

et <t wead @ i et & 3 ot qmltt S ofm
T %1 31 18 B, Sefh TEdd & i T of gm
FARF A 17 B I3 E A ah v d

(A) 12 (B) 8
(C) 6 (D) 4

it St ipla = @ gy s A
(Fa-F-T ) F M AT TR E @
gﬁ%%vhig%%aﬁmaﬁaﬁ@mﬁ
(A) a1 firem (B) ?ﬂ?ﬁ'ﬂ g
(C) =3eT fifex (D) 3 e
WA o gegen afts Jmiet ¥ e sfae
RSEESC ek

(A) TS TS, 14567 (B) Uret AT, 14765
(C) et HIE, 14647 (D) I H A 7

Afafis =f T
(A)m:ﬁ (B) wTeiRE *
(C) T¥eifg (D) A=
——— T T as 39 feba B, NG
3 IR i w3 ww e A -3
R oot am o =



n ancient times the term Urvara Was used

T W e

snts about
. o statemen
[} n ; .
e fol_?ow ugaliﬁcatlon to contest
n peatet ! nd Vidhana Sabha.
i ?onal qualification for
il MP or an MLA,
cational qualification will
‘ 3 majl:::rity of the citizéns right
s jon i ia.
?: 2ontest election m_irlfi1 . o
~ce the right opqon glwect
;:mou'r‘he sratement |15 €O orrrfect
g is €
) The ctatement I1is i —
() Both the statements

i) Both the statements | and |l are
" incorrect

1 indicate
(A Fertile soil
(C) Waste soil

(B) Sterile soil
(D) Sandy Soil

Notochord present in
W Non-chordates
{C) Both (A) and (B)

hirain 270 meter long is running at a speed

of 36 km per hour, then it il cross a bridge
oflength 180 metres in

&) 50 sec.
1) 40 sec,

(B) Chordates
(D) None of these

(B) 35 sec,

(D) 45 sac,

\'L:;e;\;i: Treaty of Versailles Was signed ?
Qg

:fffﬂtlvE the State yp;
" ness Index" d

4 come up with
aMment js

R

' Yy qerg » o
A L “-Ti.llg )

et Iy 9 = e
v owym o

(A) 14
(C) 1.
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(A) 39T, firgh (8) Few firgh

(C) gy g (D) Yefieh firdt
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(A) -y (B) 3w

(C) (A3 (B)AF (D) WA FK &

88. 270 HIX &lt uw 37 36 ft wfy 2 Y
e & = W@ R, A 97 180 e T H
T Yot it Foha wa o g st 7

(A) 50 ¥ (8) 35¥%s

(C) 40 ¥Fg (D) 45 ¥

89, aaty i Wit W Fa weaw fivg g ?
(A) 1918 (B) 1919
(C) 1920 (D) 1935

90. e € ¥, "W gEww (doiw ReW)
fersy &I arer T @
(8) wfmm

(A) FATE
(©) ¥ (D) T @ A Tl
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91.

92.

93.

95.

anguage

nglish
~question, a sentence has

ing B
n the foIIO‘W ireci/“‘d'”“-‘ Speech. Out of
gi\rer1‘|r1n a"emativa, select the one
ve (655€S the same sentence in

which be5:r§  speech.

Jimed sadly that he was undone,
aid, “Alas | | have been undone”.
d, “Alas | He is undone”.

said, uplas | He was undone”,
aid, “Alas Il am undone”,

(D) Nayans
: contains
llowing sentence LUl
The follo or or idiomatic
¢ You have to find out
f the sentence and

hat part 0
that P abet of that part

choose the alph

as answer.
He was discharged as there was no proof

against his guilt.

(A) He was discharged

(B) as there was

(C) no proof against his guilt
(D) No error

In the following question, you have to
give the suitable words for the homes or
habitats of the noun subjects from the given
choices.

Hens or fowls are kept in a

(A) barracks (B) coop

(C) hole (D) den

Choose the Antonym of the given word.
DEXTEROUS
(A) awkward

(C) discord () iy

(D) extravagance

Fill i ,
fron:‘ t;he blank with appropriate adjective
Hei € alternatives given below.
is
4 et ") e
0
der (D) oldest

o=t
%6. B
(A) Toreht
(B) Taeft
(C) arerarere!
(0) 37 & I3 7
9. TAGTd A NadEm s,
e @ |
(A) T
R
(C) @
(D) =t
98. vl % Y@ T WE
7, FEAE |
(A) T3
(B) T
(C) wia
(D) 37 & g e

99. W + 7fy = apmfy,
TR |
(A) =5
(B) o
(C) &R
(D) ¥ } 9§
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100. V&R 7 g1 gy g, TR —t

(A) ufeq
BEE (8) sy
%g (C) 1yfyg




